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1. fegmme sevesren fawmme! e s Usdem HEdgr TATAT et
(1) HYa '
(2) TBUER T
(3) PR &
(4) TRaE
The British Government, through the Robertson Committee started for
the development of transportation in India.
(1> Board of Agriculture
{2} Board of Transportation
(3) Board of Labour
(4) Railway Board

2.  Wed Al e

A, H I godA I o

T, f e II. w=|

%. feamoft HI. =hershdr

3. TS Iv. o
£ | ® g

(1y 1 III II v

2) 1V I III II

(3) III II I vV

(4) 1 II III v

Match the following pairs :

a.  Free Press Bulletin L Bombay
b. Free India II. Madras
¢. Dinamani III.  Calcutta
d. Sakal IV. Pune

a b c d
1 1 11 11 v
2y IV I II1 II
3) I II I v
4 I IT II1 \Y
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3. TR At Al gereel fawaret R A e ?

(1) @ @ ol (2) vy
(3) WIS FE THe ? (4) i
Which of the following dramas did Ratnakar Matkari write regarding the dowry
system ?
(1} Khol Khol Pani (2) Ashwamedh
(3} Maza Kai Chukla ? (4) Agnidivya
4.  HEHl QU HTEH YA % & Fe.
(1) m (@) e @ e (4) R
In Mumbai, the cooperative dairy work beganat
(1) Bandra (2) Colaba (3} Aarey {4) Worli
5. TR Thil WiE)-fashl dwen T HSET ST,

(1) wEsi fagum wwen
(2) foesr ggrd fauvm qw
(3) TF & fauue wg
(4) foqoue gu

In Maharashtra, the cooperative organisations for buying and selling are known as

{1) Cooperative Marketing Organisation

(2) Distriet Cooperative Marketing Federation
{3) State Cooperative Marketing Federation
(4) Marketing Federation

6. 19, 1960 U< ‘mgrrse T’ [l Sigeare SgaeT S T F0EE 3T ?
(1) F9EaUd Fogm
(2) TBER W
(3) e UF WS
4) fagoa mefies
Who inaugurated the ‘Maharashtra State’ ceremony on 15 May, 1960 ?
{1} Yashwantrao Chavan
(2) Balasaheb Kher
(3) Dhananjay Rao Gadgil
{4) Vitthalrao Gadgil
ool HHMATS AR / SPACE FOR ROUGH WORK
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‘FuaT @ frear @ A g e I Fe 7

(1) TEFST SR (2) WEER SR

(3) BRI (4) 9 | SR

Which commission promoted the ‘Earn and Learn’ scheme ?

(1) Radhakrishna Commission (2) Mudaliyar Commission
(3) Kothari Commission (4) John Sargent Commission

8.  WElle Sewn e ¢

3 g

a1, A iz I. fig
5 ML g . =%
R A 1. =%
3. SgEd gt IV. &

H o <h g
(1) 1II 11 | v
(2) III I v II
3 1 v 11 I
(4) 1II II I v
Match the following pairs :

A B

a. S.N. Pendse L Shitu
b.  G.N. Dandekar II.  Chakra
¢. Bhalchandra Nemade III. Ratha Chakra
d. Jayawant Dalvi IV. Kosla

a h c d
(1) 1I 111 I v
(2) III I v II
@) 1 v IT 111
(4) I I I v

9,  FHiHV Iod HUTEE Gald I S T=1 SRR femnmft o112,

(1) Hrge (2) weEY (3) TR (4) e
The longest tunnel on Konkan Railway is at
(1) Karbude (2) Malvan (3) Rajapur 4) Vengurla

FoeT HINTS! AT [ SPAGE FOR ROUGH WORK P.T.O.
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10. @l AST B ¢

3 7

A, A=A feemEh I Ieiee e
4. his femmrof 1. fa fas=
%, el fommwaf Il S, AgAER
O = CIC R E E It i IV. i 29

<) | ® T
(1) 1 | IV II1
(2) IV IT1 II I
3 I II I11 IV
4y III v I II

Match the following pairs :

A B
Imperialist School I.  Valentine Chirol
b.  Cambridge School II.  Anil Seal
c.  The Nationalist School III. R.C. Majumdar
d. The Marxist School IV. R.P.Dutt
a b c d
(1) 1II I v 111
2) IV III I I
3y I II 111 IV
4) III v I IT

11.  9Rarh U9 Ferhat Aya feodfien Jum=n fofen medw see= T g,

(1) i Fféma 11 | (2) @E k=

(3) e =HHE (4) @ ferea

Name the British Governor General who transferred the Capital of India from
Calcutta to Delhi.

(1) Lord Hardinge II (2) Lord Ripon

(3) Lord Chelmsford (4) Lord Lytton

FET HTETAIGE ST / SPACE FOR ROUGH WORK
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12, & WA R T aege 9EE .
(1) @ ™ (2) W@ wh
(3) UHTH, FEW (4) . g9
was the founder member of the Communist Party of India.
(1) M.N. Roy {2) N.M. Joshi
(3) F.M. Ansari (4) R.P.Dutt
13,  3MYFe YRAE T WUsT TEHR 3 g& %,
(1) < fom (2}16873‘ HiHaTEAE
(8) IS WSeHA - (4) TS FNgeR
Local self-government in modern India was started by ___
(1) Lord Ripon (2) Lord Cornwallis
(3} Lord Mountbatten (4) Lord Clive
14. @rofia faum foamd wn -
A, 1946 =41 Hiwre frvm Fgar A Ffaum o 1 Sward e
9. WA glaus aush afgel So% 9 feg, 1946 U< Tu= e
®, WA Gfaue A9 I 99 14 g 3 26 TS, 1949 A1 Hled TK IS,
Tt wivrd faum™ st e ?
(1) ®F o A« (2) e & 3 %
(3) &, 9= (4) had 31 IO H
Consider the following statements :
a. The Constituent Assembly of India was set up according to the provision of the
Cabinet Mission Plan of 1946.
b. The first session of the Constituent Assembly of India was held on
9th December, 1946,
¢. The eleventh session of the Constituent Assembly of India was held between
14'* November to 26t November, 1949.
Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlybandc
(3) a,bandc (4) Onlyaandc
15. 319E f§e B §Eges S0 8id ?
(1) = gerad (2) <TeN §eare
(3) T fagrl ¥ (4) 9N =g 99
Who was the founder of the Indian National Army ?
(1) Laxmi Sehgal (2) Lala Hardayal
{3) Ras Bihari Bose (4) Subhash Chandra Bose

Foeql HRIRIIG] I / SPACE FOR ROUGH WORK P.T.O.
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16. WENS USAW Hafd &t sret-fom qonee (801) _  feend amg.
(1) Treferiet (2) ST
(3) 3w (4) #ig
In the State of Maharashtra, the lowest child sex-ratio (801} is n
district.
(1) Gadchiroli (2) Jalna
(3) Akola (4) Beed

17. 3T 9E@ a9 219 & @S 7 a A4 a1 Ioe Thed SV a¥1 gE HaE e ?
(1) 2fed=, 1976 (2) 39mard, 1974

(3) 1 %gar, 1972 (4} 3 %garl, 1974

In which year did the mineral oil and natural gas exploitation project start at
Bombay High in the Arabian Sea ?

(1) 27 December, 1976 {2) 3™ January, 1974
(3) 1% February, 1972 (4) 3" February, 1974
18. @A TR HERTSE §LhRA T NN ™ ATSH1 & shell.
(1) 2000 (2) 2002 3y 2004 4) 2006

Maharashtra Government has undertaken ‘Sant Tukaram Vangram Yojana’ from

(1) 2000 (2) 2002 (3) 2004 (4) 2006

19. 1. IR TENEE ardl é=a @ saw fom ghdes o,

¥, Suf-3T T caTaeieaT R IAN SRR AT,

%, Ioicdl RBREE T SHTeicd ST 3AW I9ee 3.

afret Rt Ao fram gae a2

(1) Thebd A (2) wF o

(3) WA ® (4) had 9§ M &®

a. The area occupied by the Tapi river basin in north Maharashtra has an
eastward slope.

b.  The area occupied by the Wardha-Wainganga river basin slopes towards the
south direction.

¢.  The area occupied by the remaining plateau river basin slopes towards the east

direction.
Which one of the above statements 1s not correct ?
(1) Onlya (2) Onlyb
(3} Onlye {4) Onlybandec

FHoedT HRTRITST W / SPACE FOR ROUGH WORK
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20, WA Ae @
g7e &7 |
H. YBHR I &t — aEdarsd — fomf
9. SRHE I H&% —Heam —
F. WSS " I q9% -
g EE Or IV. A& — e
H q h g
1 IV III II I
(2) 1 Ji| 11 v
(3) III I I v
4 It II1 v I
Match the following pairs :
Ghats Roads
a. Thal Ghat L Vengurla — Sawantwadi — Nipani
b.  Bhor Ghat II.  Mumbai— Kalyan — Otur
c.  Malshej Ghat III.  Mumbai — Pune
d. Amboli Ghat IV.  Mumbai — Nashik
a b c d
1 v II1 11 I
2) I II 111 v
(3) 1III IT I v
4) II 111 v I
21. TEWISEA Al g9a @ 1960 — 1961 #Y ferdi Bief 2
(1) 229 (2 339
(3) 310 (4)  FOE HEE T
What was the density of population of Maharashtra in 1960 — 1961 ?
1y 229 (2) 339
(3) 310 (4) None of the above
o] HETATS] ST { SPACE FOR ROUGH WORK P.T.O.
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22, Wil Je o
w7} Freg
A, FIAHL I w8m
a. e 1. e
®.  HNp III. +gEr
g g v. e
H q 3 g
1y IV 111 11 I
{2y III II I v
3 II I I1I AY
4y 1 11 III Iv
Match the following pairs :
Tribes Districts
a. Katkari L. Bhandara
b. Bhil II.  Amrawati
¢. Korku III. Nandurbar
d. Gond IV. Raigad
a b c d
(1 IV III I1 I
(2) III II I v
3 1II 1 111 1AY
(4) 1 I III v
23. Wl Tafyret=n SqEEIRuRT ARG QT IR ITET HHE A

" HIER g
%. WUREST g,  Hogan
(1) A, 9, 8 (2) 8, 3d,%, 9
3 3% 34,9 (4) ¥,%,38, A

Arrange the following peaks in the descending order of their altitude from mean sea
level :

a. Salher ' b.  Saptashrungi
¢. Mahabaleshwar d. Kalsubai
(1) a,b,ec,d {2y d,a,c,b

3y d,c,a,b (4) b,c,d,a

FeEg] HHRATST 9T / SPACE FOR ROUGH WORK
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24, T 2011 =AU FPVHTER, TERIERE @refd faegmer, Seae gqaes snaied dear wy

NICIEN

. Fygt v R
. g ER

(1) 3,9,%,3 (2) &, %, 9 A
(3) &,3,%,3 . 4) *, 8,49 3

Arrange the following districts of Maharashtra in ascending order on the basis of
their population density as per 2011 Census record :

a. Sindhudurg b.  Gadchiroli
¢.  Nandurbar d. Dhule

(1) a,b,e,d (2) d,e,ba
(3) b,a,c,d 4) ¢, d,b,a

25, @mﬁaﬁaﬁmﬁwqﬁaﬂﬂ?ﬂmﬁ?

(1) frore (2) wTS
(3) fagwm (4) T
Which of the following is a tributary of River Wardha ?
(1) Nirguda (2) Manyad
(3) Sindphana (4) Girja

26.  HIHU RS e Iothg Sfafiis STHU hH .

#.  dan . G

F. I . B Tt

(1) =, A, &, 8 (2) #A,%, 8,9

(3) 9,8, % (4) 9,%,9, 8

Arrange the sequence of rivers in South Konkan from North to South.
a. Vaitarna b.  Savitri

¢. Ulhas d. Vashisthi

(1) ¢,a,b,d (2) a,c,d,b

(3) b,d,a,c (4) a,c, b d

27. v fcame ford frearmean #fm e ema 2

(1) 4 (2) 5 3) 6 (4) 7
How many district boundaries does the Pune district have ?
(1) 4 (2) 5 3 6 4) 17

| FEEgT SIS ST / SPACE FOR ROUGH WORK P.T.O.
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28. & am.u. <cfi F focien gedfiem = SRl AT A YURS STHOTR] 90 HH o
A, EE 4. gdaem
#. foenam 3. e
(1) #H, 49, %+, g 2y §,&,d9,3H
3) &, A, 3,9 4y %,9,8 A
Arrange the following layers of the Earth from the outer layer to inner layer given by
Dr. RA. Daiy :
a. Barysphere b,  Asthenosphere
¢.  Lithosphere d. Mesosphere
(1) a,b,cd (2) d.c,ba
(3) c,a.d,b 4) c¢.b,d,a
29, Tord dHem veaers ugde |1 THEY B,
(1) G aemrdia Fee @E-fadr (2) F@ 2 (oF1d &)
(3) T fef ager s (4) e ad
Quantitative methods of RBI include '
(1}  Open Market Operation (2) Bank Rate
(3) Varying Reserve Ratio (4)  All of the above
30. @il faurd ggr .

a1, faygrt 39 dnfda ¥r8 smesd.

9. Sieqise THEAH SV STEE d9ed.

%. s Toegndial 90 39 swETse @A 3T e 9.
(1) FFa faqum 1 SR 38

(2) ad o & it e

(3) faurm 9 snfor = =lew 3mgq

(4) faam 31, 9 7T % FU= 3784

Observe the following statements :

a. Manganese deposits are found at Sindhudurg.

b.  Bauxite is mainly found in laterite.

¢.  Chromite is mined at Mauni in Bhandara district.
(1) Only statement a is correct

(2} Only statement ¢ is correct

(3} Statements b and c are correct

(4) Statements a, b and ¢ are correct

FHoeT HANTS! WIFT | SPACE FOR ROUGH WORK
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31. TR 2012 - 13 el vnarea it sfentEh awgEn TEFFAT Afgd Mo wHTE
IR,
(1) 317% (2) 21-7% (3) 287% (4) 307%
Engineering goods occupied the first place with a share of percent in
India’s export in 2012 — 13.
(1) 317% (2) 21-7% 3y 287% 4) 30:7%
32. faen ofaf o Brema el edfihl, dufie waar v (SLR) 7= 38-5% &4
_ wEl
(1) 325% (2) 30-5% (3) 25% (4) 28%
Narasimham Committee has recommended that SLR should decline from
38:5 percent to .
(1) 325% (2) 305% (3) 25% (4} 28%
33. 1 HTe3d WA TR T 2 SHSi=ar caharl g=dia ot g,
(1) 2007 — 08 3nfor 2008 — 09 (2) 2010 — 11 s7fer 2011 — 12
(3) 2006 — 07 37fdr 2007 — 08 (4) 2012 - 13 3nfor 2013 - 14
Primary deficit of Govt. of India in percent of GDP was negative in the year-
(1) 2007 — 08 and 2008 - 09 (2) 2010-11 and 2011 - 12
(3) 2006 - 07 and 2007 — 08 (4 2012-13 and 2013 -14
34. welia faur Fift e w9 o ¢

A, el 9rey o AfteR ATE.

9. 7 o foEn e amg.

F.  USITEAER YT @E S,

3. ORw mEuft A Ut 9=t heft 9.

(1) wad o, 9 anfu1 (2) ad H, & M F
(3) wad o, ® AMMS (4) #a H, % MM B
The following statements are true concerning NITI Aayog :

a. No power to allocate funds.

b. It is a think tank.

¢.  Imposes policies on States.

d. Consulting States while making policy.

(1) Onlya,bandd (2) Onlya,bandec
(3) Onlyb,candd (4) Onlya,candd

Feeh| BIETAT AN / SPACE FOR ROUGH WORK P.T.O.
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35. 1950 - 80 I Herdlel WRAT=A AT Ifg B
(1) 4:5% (2) 2:5%
(3) 35H% 4) 4-0%
The growth rate of Indian economy was in 1950 — 80.
(1) 4-5% (2) 2-5%
(3) 35% (4) 4-0%
36, ORI HHY T TG, &0 T 7 _ .
(1) IEH TH (2) e @d
(3) wrsael @d (4) T o AT
The expenditure of the Government on law and order is classified as .
(1) productive expenditure (2) unproductive expenditure
{3) capital expenditure (4)  None of the above
37. WW@WMW%&(W&)WW B,
(1) =o 9@ (2)  TASUERE T HT0
(3) TR 978 (4) FleTaeh! |d
When RBI raises the bank rate then there is
(1) inflation (2) discourage to investment
(3) raise in employment {(4) All of the above
38. @l Uy IEANAT W dIGat, el TR,
(1) 3T e (2) qE e
(3) dHAlA HeEUTH (4) eerdehl e T
When expenditure exceeds the total revenue it is called _ o
{1) Surplus budget (2) Deficit budget
(3) Balanced budget (4) None of the above

39, “afaw gfmm ey fdams’ (MPD &1 @efierdsh) Sl grgen ?

(1) <fas s% (2) WA fawE a1Ea™, 2010

(3) TeH "% (4) Tigrd o A1 3fea

Which of the fellowing has introduced the Multidimensional Poverty Index ?

(1) World Bank {2)  Human Development Report, 2010
{3) Planning Commission (4) Reserve Bank of India

FoeT HHTATS! JRT / SPACE FOR ROUGH WORK



A 15 B09
40, WA By FEHEAR I B Ed g e T TR guie @ g 2

(1) TauvisEd I EESTR A (SGSY)

(2) TuisEd w5l s A (SISRY)

(3) T FEnEd! WUSTR

(4) lAth FHoE T

Which of the following programmes aims to provide employment only to the rural
poor ? '

(1) Swarnajayanti Gram Swarozgar Yojana (SGSY)
(2) Swarnajayanti Shahari Rozgar Yojana (SJSRY)
(3) Self Employment for Educated Youth

(4) None of the above

41, GO v/ faum/A st sm/a 2
snfier P S TN SeETde S Saerl 9ty gradd ATl

9. TS o wrenaHitR b Fen weradian gig wwee s,
Sl

T onfds faemres aqot et e w5 s gty el e,

(1) R A, & A0 F (2) T

(3) wad A (4) FHdH

Which of the following statement/s is/are correct ?

a. The national income trends during the period of economic planning do not
indicate a consistent increase.

b.  Growth has taken place only in about half of the years of economic planning.

¢.  For almost half the period of economic planning there has been little growth or
even negative growth.

d. Considering economic planning period as a whole, there has been a steady,
consistent growth.

(1) Onlya,bandc (2) Onlyd
(3) Onlya (4) Onlyc

o] FHTETET WM / SPACE FOR ROUGH WORK P.T.O.
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42, fm weEwHe SREEdE R (Femda) 9fg & e e -

¥, WESE ST AEuERE FH sEee Jrae

F. WA FEAS qTH

T, PGS gROn &9 B AHRIH

(1) SF H (2) SIS

(3) I F A (4) wEd A, F AT H

The lackluster agricultural growth since the new millennium is due to
a. Structural weakness

b.  Low level of public investment

¢.  Unbalanced fertilizer use

d.  Small size of agricultural holding

(1) Oulya (2) Onlyd

(3) Onlycandd {4) Onlya,bandc

43, qEAUH! FIUET I /HTEH /SEAGAAS WA FHY FHHRE 318 7

. faymem

4. g®

%. STl V&S ThicH

T Ol /Y /aeg

(1). T T (2) HFd H A0S
(3) ®ad F a0 g (4) ATt 9w

For which of the following industries is licensing compulsory ?

a. Cigarettes

b.  Alcohol

¢. Industrial explosives

d. Defence equipments

{1) Onlyd (2) Onlycandd ,

(3) Onlybandd (4) Al the four mentioned above

weeq HHMATEI ST { SPACE FOR ROUGH WORK
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W HH AT — JUEU., 9, g3 dfEan, 3u3 s e anadie saEdia wata me
qTE AR, WA TIH HATS ALEN

(1) =\, 3.1, Gad Ry, 3.0
(2) dm, 534 swfeem, .03, 3.U4.T
(3) Iug.v., wad sifdem, 9H, 3.0,
(4) wSd afwan, ¥H, 3.ug.v., .03,

Rank the following countries in terms of their share in India’s imports in recent
years : U.S.A,, China, Saudi Arabia, U.A.E., with the major import sending country
getting the 1% rank :

(1) China, U.S.A., Saudi Arabia, U.AE.
(2) China, Saudi Arabia, UAE., US.A
(3) U.S.A,, Saudi Arabia, China, U.AE.

(4) Saudi Arabia, China, U.S.A., U.AE.

45.

aardier e garem wela qEiWtdl Hivea TSI 9T, | FH HEd, waE| S
Mg ?

(1) Tod (2) WE
(8) I (4) THARH

Which of the following States contributes the largest share in the deposit

mobilization in the banking sector in India ?
(1) Gujarat (2) Maharashtra

(3) Uttar Pradesh {(4) Karnataka

FTedl HTFTHETST ST / SPACE FOR ROUGH WORK P.T.O.
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46.

18 A

el HR e T e ?

H.  FEERN T FEE B eET gt A,

F, RN & agEsm i S g S At

%, GEREN & WRREE fF de g i I

T HGRE B AEh i A gt i aar.

(1) wFd A 07 § ST 37T (2) FF F AT % TR ATRA
(3) & T T TS 3T (4) WFd 3 M7 T FUH IMEA

Which of the following sentences are correct ?

a. Long sightedness is corrected by convex lens.

b.  Short sightedness is corrected by convex lens.

c. Long sightedness is corrected by concave lens.

d.  Short sightedness is corrected by concave lens.

(1) Only a and b are correct {2} Only b and ¢ are correct
(3) Only cand d are correct {4) Only a and d are correct

47.

JegT 100°C M e 10 gm qoft graTeR wae 37@a1 Rl S 99w g, § e, qrogTs
Tafirse 3wr wmar = 4200J kgl K1 9 gam=n g dEgE = 30°C.

(1) 2940 kJ (2) 294 kJ

(3) 294kJ (4) 294kJ

Calculate the energy released when 10 gm of water at 100°C is split on the hand.
The specific heat capacity of water is taken to be 4200 J kgf1 K~ and the
temperature of the skin is 30°C.

(1) 2940 kJ (2) 294 kd
(3) 294 kJ 4) 294kJ

48.

FAEE HgIaEd Folte &G B

(1) o= a1 — Rafas F1 - faga st
(2) feufra =1 - i St - foga st
(3) faga ot > Fufas st - nfemm St
(4) Torp@ 11 - i ol — ferfes et

At the hydropower station, changé of form of energy is

(1) Kinetic Energy — Potential Energy — Electrical Energy
(2) DPotential Energy — Kinetic Energy — Electrical Energy
(3) Electrical Energy — Potential Energy — Kinetic Energy
(4) Electrical Energy — Kinetic Energy — Potential Energy

ST FTATHTSY SIAIT / SPACE FOR ROUGH WORK
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49. Sb#_ w1 Yorea v g9 AR
(1) Hefitam (2) oifemdt
(3) ad@t® (4) 0T FHoad TTE
Sb is the chemical symbol of the element :
(1) Seaborgium (2) Antimony
(3) Arsenic (4) None of the above

50,  STIFHET W T2 vl qTe/ ey
. ol FAERT TR R NO i NO,,.

q.  FOUTRUSEA YT T47 BT Cl 3o,

FhATHT Fore FumA s R/a ?
(1) & 3 (2) wF
(3) TR A amfr = (4) et BORE T

Ozone layer gets destroyed by

a.  NO and NOs from natural sources.

b. Cl atoms from chlorofluorocarbons.

Which of the above statements is/are correct ?

(1) Onlya (2) Onlyb

(3) Bothaandb (4) None of the above

51. Wicladdhl Hioen TF/EITEE el siciedn Yelgearemn T s fawan srer

a2/ ?

(1) %ad BrF, (2) % BrF,

(3) &R (1) 3mf (2) (4) et SR TE

In which of the following compounds does the central atom have expanded octet ?

(1) Only BrFy (2) Only BrFy

(3) Both (1) and (2) (4) None of the above
52,  HE U TS e g 77 gofierTid Hiedr.

(1) i (2) ofEm

(3) g (4) Bletrm

Egg laying mammals are included in _ animal group.

(1} Prototheria (2) Theria

(3) Eutheria (4) Metatheria

FoTd] FHETAE! AT / SPACE FOR ROUGH WORK P.T.O.
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53. 9=4 fed=n Gr=ard 1w rEar

(1) form wg=F (2) Igad

(3) Ry (4)  wedad

The digestive system is lacking in

(107 Liver fluke (2) Tapeworm
(3) Ascaris {4) Earthworm

54. Thofmia= waearaol wtwar Fia Hiod gaioy 98 9@ ?

(1) HHIB (2) HATHIG (3) 7R (4) A
Which is the best time to have blood test for filariasis ?
(1) Mormng (2) Evening (3) Noon (4) Midnight

55. W a1 qegs fRdl @ Fuen sidmd (Temy) wisa ?

(1) wfgi=T (2)  wifdai=n

(3) fewm (4) i

Leafhoppers or Jassids belong to order .

(1) Lepidoptera (2) Coleoptera

{3) Diptera (4} Hemiptera
56. HAWEA & FAETdl AR,

(1) Heiom Tie fhar aeada= yerrfear argord

(2)  Frewvgh

(3) W2 ead

(4) W 9@l W=t

The golden-yellow coloured twiner dodder (Cuscuta reflexa) is a/an
(1) saprophyte

(2) inseetivorus plant

(3) pitcher plant

(4) total stem parasite

57.  STgdas SAeTdiarnmdie Tait d8W gAe

(1)  a=mr (2) TR
(3) e (4)  FHIAT

o is the smallest among the angiosperms,

(1) Wolffia (2) Vallisneria
(3) Hydrilla (4) FEichhornia

FTeg] HTHIAISE ST / SPACE FOR ROUGH WORK
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58. HUW AU AErfasTs FEl ue et fooeh amen ¢
A, A g e T s A GEAHEE AR,
. A 3 T Sedas e faeed.
&, fErguetsn ssne 9-3 frahed wfa om R,
3. F SNETS ANETS Shedl & UM gl

T Fvd fauma/A at= eR/a ?
(1) $FdH (2} ®ad B
(3) wad 9 3oy & (4) ®F A, F AT

Some statements regarding health and nutrition are given below :
a. Copper is an essential micronutrient for the human body.

b.  Vitamins A and D are water soluble.

c.  Caloric value of lipids is 9:3 keal/g.

d. Deficiency of Vitamin C causes scurvy.

Which of the above statements is/are correct ?

(1) Onlya (2} Onmnlyd

(3) Onlybande (4) Onlya,candd

59, SqEWl HeaE Ek afsear e A SRR Sive geft favemes @ e waar 2

(1) =W Iufi (2) o @ weh

(3) forpEEeE (4) WHAEEH

Which cells in the human body release histamine in response to an infection ?
(1) Mastcells : {2) Red blood cells

(3) Lymphocytes (4) Monocytes

60. witEHeUT, "y, U8, vae FAE %S T Ui, B 98 IR Gieerish! HIved] T
gt FEd ?
(1) wraa vgg
(2) I AEa vEre
(3) fewrs fohar feut aqne
(4) SO HIad e

Dry beans, flour, sugar, canned fruits and vegetables are examples of which of the
following foods ?

(1) Perishable foods

{2) Semi-perishable foods

(3) Non-perishable or shelf stable foods
(4) None of the above

T PIATAIS! ST / SPACE FOR ROUGH WORK P.T.O.
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61. wwrdw famm () ifadd v T mead sigR Tye wid fid e, e Te feee
_?; EILNO; IMPRS; MQTVW; QUXZA
{1) AEDHI (2) AEHJK
(3 AEFGH {4y BEDJK
There is a letter group series with one term missing, shown byv question mark (?).
" This term is given as one of the alternatives. Find it.
_?; EILNO; IMPRS; MQTVW,; QUXZA
(1) AEDHI (2} AEHJK
(3 AEFGH {4) BEDJK

62. U @ihkrk wMd KGLFT &1 PTOUG 3 fafed sid. @ @ arbfas wd MERSA +4
fafes wméa 2
(1) VIHNZ (2) NVIHA
(3) NVIHZ (4) NVLHZ
In a certain code language KGLFT is written as PTOUG. How will MERSA be
written in that code language ?

(1) VIHNZ (2y NVIHA
{3) NVIHZ (4) NVLHZ

63. FHUEBFZ A, B, C,D,EF, G H,I,J a0 K= qRemesEit U T 39 37774,
a. D, F = SEI®s o7 A8, C =1 Iq61he 8 8.
b. A, E = 39d®s gHU R, T UHI JIRAT AR,
c. J,Aanfil B4 o Taa 99 AR i G o= Sieies e we.
d. H, D= = ama o anft I = 39efiers foam o

T T HeAuEl oy 3N IR 2

{1y C 2y B 3y I 4y G

Eleven players, A, B, C, D, E, F, G, H, I, J and K are standing in a row, facing the
coach. :

a. D, who is to the immediate left of F, is second to the right of C.

bh.  Ais second to the right of E, who is at one of the ends.

c. Jis the just immediate neighbour of A and B and third to the left of G.

d. His to the immediate left of D and third to the right of I.

Who is standing in the middle of the row ?

(L C (2) B (3) I 4y G
POl HHTHIS! I / SPACE FOR ROUGH WORK
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64. LIk At T gaeen feeelt o1ms -
R%E5D24#9AFB@J3IKM4 1WUSVON=GZ567

T FEEE IR @i 919 G = fafite yoit awm aTRe. e o @& e 9.
I W e w6q 77g7, @ Faen.

a. @IF b. 4@

C. @©G8 d Uel

e. #FD

(1) a (2) b 3) ¢ 4y e

A system of letter-number-symbols is given :
RAESD2#9AFB@JITKM41 WUBVON+GZ367

On the basis of this system, out of the five below, four are the same in some way and
form a group. ¥Find the one, which does not fit in this group.

a. @IF b. 4@

c. ©G8 d. Uel

e. #FD

(1) a (2) b 3) ¢ (4} e

65. dIdereA Wigd! e TEAT i vearsfl Hey Myl, =aEd yEfegrear Il wiwd

T ASA 2
16 1 9
25 49 36 25 81@ 100
121 49 16
(1) 256 (2 225
(3 324 4y 676

Find the relation of the numbers around the circle, to the number within the circle
and then find what will be the number instead of the question mark.

16 1 9
25 49 36 25 81 @ 100
121 49 16
(1) 256 (2) 225
(3) 324 {4) 676

FHoTg] HHTETET N / SPACE FOR ROUGH WORK P.T.O.



B09 24 A
66. fedicm W sjEedial 39 §EN 91 TETS IRd. el fowl uww de safeud sdd,

& q3y e

7560,10__,1__, 36,9, 3
(1) 74 (2) 84
(3) 80 (4) 170

The parts of two numbers in a number series are missing. Select the proper
alternative which will fit at both the places.

7560,10__,1__,36,9,3
1y 74 (2) 84
{3 80 {4y 70

67. @i T mhiha gt dE

3,10, 27, 4, 16, 64, 5, 25, 125

(1) 3 (2} 4

3) 10 4y 27

Find the wrong number in the following number series :
3,10, 27, 4, 16, 64, 5, 25, 125

(L) 3 2) 4

(3 10 (4) 27

68. T2x8=20, 3x9=31 M1 5x8=44, T 30x5="

(1) 150 (2) 154
(3) 158 (4) 145
If 2x8=20, 3x9=31 and 5x8=44, then30x5="?
{1y 150 (2) 154
{3) 158 4) 140

69. U ®WiHlds WNd DOUBLE 8 GSXFOI 34 fdfedd, ot == wmd MISTER ® %8 fafgm

DEC I
(1) PMVXGU (2) PMVXGV
(3) PMVXHV (4) PLWXHV

In a code language DOUBLE is written as GSXFOI. How will MISTER be written in
the same code ?

(1) PMVXGU (2, PMVXGV
3) PMVXHV (4) PLWXHYV
Foeg] HHETATS! SR / SPACE FOR ROUGH WORK
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70. fooiow <wrdier s fafire faae o www. q fem wgm, yedw R fewmh,

72 | 24 | 06
96 | 16 | 12
108 | ? 18

(1) 12

(2) 16

(3) 18

4) 20

The numbers in the given square follow some rule. Find this rule and choose the
correct number from the given alternatives in place of the question mark.

72 | 24 | 06
9 | 16 | 12
108 | ? 18

(1) 12
(2) 16
(3) 18
{4) 20

71. M Hed WE 7 e g g,

39,69, 57, 129, 117

(1) 69 (2) 57

3y 129 4) 117

Find the number which does nrot belong to this group.
39, 69, 57, 129, 117

(1) 69 (2) 57

(3) 129 4) 117
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72.  Grelt wE f9ur § e wieddl I AAT el oed. sEHeTEder 9 g4y fae.

faer
FI TR TR, Td TR ATS 3T FIE TS FA TR
HTA
I o F 3R II. §d $3 A1 e,
1. 94 9Ht F3 3TE4. IV.  Iorddl 31 A1 et
(1) wad 3399 1 e (2) e o7qa 11 frera
(3) 19 e s Froam (4) T IV g Aga faaard

Some statements and four conclusions derived from them are given. Select the
proper alternative about the conclusions.

Statements :
Some dogs are goats. All goats are trees. Some trees are not dogs.

Conclusions :
L. Some trees are dogs. II.  All dogs are trees.
III.  All goats are dogs. IV. No tree is a dog.
(10  Only conclusion I follows (2)  Only conclusion II follows

(3) Both conclusions [ and II follow (4}  Both conclusions IIT and IV follow

73, fecich wiferet g g& davarandt feeiea waiamge vl sispdt svAfagre fawft 3 ?

+ e+ O OA §C S -
O A|S aAlS Ce Ce +| ?
C SIC e+ e+ OA [
P Q R S T
+ @ + 8 C o C
1 (O A 2 O A 3 O + 4 S +
C S C [ A0S + @

Which figure will replace the guestion mark to continue the following series, from
the given alternatives ?

+ e+ O O4A S|C S
0 A8 AlS Cle Cle +| ?
C S C e+ e+ [l O
P Q R S T
+ @ + 8 C o C O
v 4 oA 2 |® & 3 O + 4 |S +
C S C 0O AN + @

Feeg] HIATITS! ST / SPACE FOR ROUGH WORK
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74. TEH AFdrte e & famgan srRa. ywmedw femgrem Ewmli Qo wen fgeem

et P,

2 4 1 6
4[a516 8|84 7 2(30]3 -SZ‘IZ
3 9 1 9
(1) 75 (2) 240
(3) 864 (4) 25

The numbers in each figure are according to some rule. Select the number from the
given alternatives which will fit in place of the question mark.

2 4 1 6
4145 |6 8184 7 230 |3 8| 7 |2
3 9 4 9
(1) 75 (2) 240
(3) 864 (4) 25

75. R Soudier o HeaEdt 9n e mE fafag fewwmr 9@ e s
JIHUHT SEd HW el Frddael SaH T8 9 M Iead]. Ugaed IdETeA YaiE 38 a
T AeTed] 9 dae9 e WAl YA ME Sead!, @E M AeauatEn 1 8l 399 9
A A MEL TTeEed] Thidd SIS T 378, ST YT HHide TEura 313 a1
et Faett. Y fohdl 9 ME Seraet 7 g g e
(1) 8 (2) 9
(3) 10 (4) 11

Four friends have visited different places for studying the flora of the region by car.
Arman drove the car for more hours than Yunus who drove for six hours. Edward
drove the car for eight hours during the forward journey and for the same number of
hours during the backward journey. His total driving time is more than the
combined time of Yunus and Arman. Cavas drove the car for eight hours less than

Arman. For how many hours did Arman drive the car ? Select the proper option.
(1) 8 (2) 9

(3) 10 4y 11

FHo] HHEEISE RN / SPACE FOR ROUGH WORK P.T.O.
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76. T g ST MR e e e o
. E HEAEd) AU gEan AR,
. A TR gEEE 2004 95T AT
F.  FF F AT 2016 I TR el wfgem Fm ofgsr smea.
e e e Wi e 2
(1) ad 3 T §
{2) W& T AV H
(3) ud 31 AU H
(4) Fhavh 7
Consider the following statements regarding the Man Booker International Prize :
a. Itis an International Literary Award.
b. Tt was introduced since 2004.
e. Han Kang is the first Korean author to win the prize of 2016.
Which of the statements given above are cﬁrrect ?
(1) Onlyaandb
(2) Onlybande
(3) Onlyaande
(4) All of the above
77.  Soene BHeER AR 91 @ g gifste stqed Wi grafacarsesE SRt ™

ool qfgelt WA Tigen i e 9
(1) &wea fae g

(2) e fima fagare

(3) A Az fieas

(4) hred TG T

Who became the first Indian woman to receive International Maritime
Organisation's award for exceptional bravery at sea ?

(1) Captain Ambika Das

(2) Captain Shikha Biswal
(3) Captain Neha Pillai

(4) Captain Radhika Menon

FoedT HIHIAIST ST / SPACE FOR ROUGH WORK
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raTdTe g #1e =ge fesr Hiomr ?

(1) g (2) TEa™

(3) Wl (4) =MEY
India’s first carbon neutral district is .

(1) Pasighat {2)  Dubagh
(3)  Majuli (4) Shahpur

79.

FOT ATE,

(1) smfiwn (gum. ) sofn gofs gfee

(2) /@ (3.Ug.u,) st ?g?rerd@ e (Rrew)
(3) i (Fuau.) anfh sties ghmm

(4)" anfe (3.ua.w,) o TfEmn

The Transatlantic Trade and Investment Partnership is a trade and investment
agreement being negotiated between _
(1)  United States and European Union
(2) United States and United Kingdom
(3) United States and African Union
t4) United States and Russia

N i :[ n a ~

80.

Aferhre™ (WM. 2017) WRATE Fald A3l A TG T 1 ET &
(1) e (2) i (3) BT (4) =3

Recently (Jan. 2017) India’s largest public WiFi system was launched in _

city.

(1) Bengaluru (2)  Mumbai (3) Hyderabad (4) Chennai

81.

gauye = g A T TheTE FE Feien ofim (BHIM) B @&9 3rEee 3ige quley
GIefietdsh! HId 3918 7 ‘

(1) Wrd seHifsue s w

(2) WRA $eHIA ®H Tl THe

(3) W §20hRE B A Toe

(4) WRd 5eTHE R A

What is the full form of the acronym BHIM, an App which was recently launched by
Prime Minister Shri Narendra Modi ?

(1) Bharat Intermediate for Money

(2) Bharat Intermission for Monetary Payment

(3) Bharat Interface for Monetary Payment

(4) Bharat Interface for Money

FoedT ST AN / SPACE FOR ROUGH WORK P.T.O.
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82,  WIFTE FivreT 23 ‘AT G A= o5 HIETs 91 dIgelt ?

(1) fore= (2) W H

(3) @ (3.08.0.) (4) wH

Which of the following countries conducted the military operation named

‘Operation Sentinelle’ ?

(1>  Britain (2) France

(3) USA (4) Spain

83. T Foal SEvRl SwEte afEelt de JHda S Tsa FEitad wam e ?

(1) sfsan (2) i (3) =N (4) Ay

In which State was India’s first solar powered boat launched ?

(1)  Odisha (2} Kerala (3) Goa (4) Tamil Nadu
84,  dNH Ugar g A w@W 71 Tt 1971 |t wam 3fhg s

(1) =g (2) e (3) femermn (4) =

Taarak Mehta’s humorous column first appearedin ___ in 1971

(1t Chandoba (2) Kishore (3) Chitralekha (4) Grihshobha

85.  Smfas dwe dm Ak gan fagew o, 20167 ned varen feaan s fisten amg ?

(1) 120 {2) 130 (3) 134 (4) 142
India’s rank in the World Bank’s “Ease of Doing Business Report, 20167 is
(1) 120 (2) 130 (3) 134 (4) 142

86. WIATAIH! HIoft 2016 31 GHL ATATEIF GiEeT Uil dafifean=y &d ges fFea 2

. wEn faed
9. GRET 4Ed
%, Wi fayg
(1) = anfn = (2) wFad (3) 3 s = (4) wEa ®

Who ameong the following won the silver medal in women’s singles badminton at the
2016 Summer Olympiecs ?

Sania Mirza
Saina Nehwal
¢. P.V. Sindhu
(1) bandc (2) Onlyb (3) aandc (4) Onlye

HTeT FRTEIS! AT / SPACE FOR ROUGH WORK
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87. WAl 2017 Ted areht = e Tt FEO HATT e
(1y 4 (2) 5
(3) 6 4) 7
The sixth trial of Agni was test fired in January 2017.
(1) 4 (2) 5
3) 6 4) 7
88. 2016 UAAT TNIF Tgiaes AUIH THeiq Ala=a1 A" Hrorad I AAfew Hia Foman wae
FEA fasrdTg dehEd ?
(1) favamea g
(2) sl s
(3) &S HIAifeh
(4) HfaamR HrEeT
Norwegian Magnus Carlsen defeated whom in the final to win the World Chess
Championship 2016 ?
(1) Vishwanathan Anand
(2)  Vladimir Kramnik
(3) Sergei Karjakin
(4) Fabiano Caruana
89. WRAMIA ETg Haed=l AEET UK I= wWE S wmear Swgddrell Jhde AHvET

(1) =grawgt dh.ed. s
(2) =t fafe e
(3) =raydt d9e s

(4) —rawet areur fisn

Who has been appointed as chairman of a high level committee to review Arbitration
Mechanism in India ?

{1) Justice B.N. Srikrishna
(2) Justice Mihir Shah

~(3) Justice Dipak Mishra

(4) Justice Arun Mishra

FoTT FETHTS! SIAT / SPACE FOR ROUGH WORK P.T.O.
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90. WA s el :

H F

A, UsdE Hagn I 928 %gard
a Ui fomw fe I 259mFard
. e Afgen III. 15w
3. S e g fed v, 8"

A E) =+ -
(1) 1I I v m
(2) 1 II I11 v
(3) III v II I
4) IV I11 I I
Match the following pairs :

A B

a. National Voters’ Day I 28 February
b. National Science Day II. 25 January
c¢. International Women’s Day III. 15 March
d. World Consumer Rights Day TIV. 8 March

a b [ d
(1) 1 I v 11
2) 1 I1 111 v
(3) III v 11 I
4 IV I11 I II

91. 20169l sifsu=h wmom & _ 9§ qof e,
(1 175 (2) 80 (3) 66 4) 69
In 2016, Odisha completed _ _ years of its formation.
(1) 75 (2) 80 (3) 66 {4y 69
92, 2017wt I R RS feevE e

(1) 4 (2) 5 (3) 6 4y 7
Uttar Pradesh Assembly elections of 2017 were held in phases.
1)y 4 2) 5 3y 6 4y 7

T HHTATSE SR / SPACE FOR ROUGH WORK
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93, 2017 =1 W WO Ge=A1 FHaSueh=a da1 HERTm 8 U9 Fasue sy
B
(1) SRR wertEn (2) Tren aemEEY
(3) gwTe T (4 @ Db
During the 2017 local self-government elections was the State Election
Commissioner in Maharashtra. .
(1) Jageshwar Saharia (2) Neela Satyanarayan
{3) Nandlal Gupta (4 D.N. Chaudhari

94, WA Sreal g1

H &

(FeTgeett) (7T
A 10 & geAgEA I R IE@H
. 21 wegesi II.  9H e e
%, 52 weAgEHl III. 35U @ TR gael =1 hgwidd Je¥l U7 GHE
3. 101 wegE Iv. faedt w=n sEieeR wm =g swEy

) ' q Eo k-4
1 I II IIT v
2 Iv I11 II I
3) II I v II
(4) 1III v II I
Match the following pairs :

A B

(Amendments) (Particular)
a. 10F Amendment I Goods and Service Tax
b. 215 Amendment ) II.  Anti Defection Law
c. 52" Amendment III. Incorporation of Dadra and Nagar Haveli

as a Union Territory

d. 101% Amendment IV. Include Sindhi as an official language

a b c d
(1 1 II I11 v
(2) IV 111 IT I
(3) III I v II
4y 1 v I1 I

FeeqT FHTEIS! ST / SPACE FOR ROUGH WORK P.T.O.
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‘anider A qed ¥ MR TsaEe= Wiefierdsh! vl gg WITTa eI el 3118 ?
(1) Tsager= Iefienr snfor o=ar=a Yo arfess a9«

(2) TSTEA! IR AT qena gah

(3) VTIVA g MU saren GiomT=! HArigih dcd

(4) SR HIE A

The objective of ‘Economic Justice’ has been provided in the Indian Constitution
under the provisions in which of the two parts mentioned below ?

(1) The Preamble and the Directive Principles of State Policy

(2) The Preamble and Fundamental Rights

(3) The Fundamental Rights and Directive Principles of State Policy

(4) None of the above

96.

e TR ErerfuiE ST SIveT headmed GHTfase Hard AT T8 ?
(1) SfEama sufon e W@ AR

(2) THRIE AfUFR

(3) wwofaRgEn St

(4) it @ AUER

In which clause of Fundamental Right, Right to Privacy is implied as

(1) Right to Life and Personal Liberty

(2) Right to Equality

(3) Right against Exploitation

(4) Right to Religion

97.

I TAUEJER, YEIadeh! Hivd qevd hasd F7g7 ?

(1) wEf Fagusme Fagm wo

(2) TSTERAT U TS dedT e HO

(3) HEdIHS ATTHTE &0 Fol

@) A g e w0

Under the Constitution of India, which one of the following is nof a Fundamental
Duty ?

(1) To vote in general elections

(2) To abide by the Constitution and respect its ideals

(3) To safeguard public property

(4) To develop scientific temper
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98. ‘FfedT’ Tn g3 T=AHEI=N S FHARIHET Ig@ Folel Hesal ?
(1) <™ 74 (2) el 75
(3) “hetd 352 (4) <™ 353
The term ‘Cabinet’ i1s mentioned in which of the following Articles of the
Constitution ?
(1) Article 74 (2) Article 75
(3) " Article 352 (4) Article 353
99. 741 WG HeMid Wiefieh wi fyum/faus frres s ¢
A W RAGERER TR Fasuphl daediea aEire el T woaE
§. ufsas ameear i, T vedt aftvest ®@ 9 afier I @ wEed §
%, iy ggrd ardiet fesr uftggreh @ 9 S1faer a1 FEane ST EeR AT,
(1) %Fa A (2) wEd o
(3) hEd I I § (4) wad o M0 F
Which of the following statements related to the 74P Amendment Act are correct ?
a. The Act bars the interference by courts in electoral matterers of municipalities.
b.  The Act shall not affect the functions and powers of the Darjeeling, Gorkha Hill
Council of West Bengal.
¢.  The Act shall not affect the functions and powers of the district councils of the
hill area of Manipur.
(1) Onlya (2) Onlyb
(3) Onlyaandb (4) Onlyaandc
100. o1 fade T Y% TUTTE TRy Sgna §Ud #0 SUFERE 3.

(1) facfta fauas
(2) oA faugs

(3) ueAgEE T
(4) TaATIRY fadas

- must be passed by each House of the Parliament, seperately by special
majority.
{1} Finance Bill

(2) Money Bill

‘ {3) Constitution Amendment Bill

(4) Ordinary Bill
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